Polygon Clipping |

1. Always start the clipping process with the vertex that goes
from outside to inside and has the largest (or, smallest) y-
coordinate if the clipping edge is vertical (see the next slide
for such a vertex). Otherwise start with the vertex that goes
from outside to inside and has the largest (or, smallest) x-
coordinate. (Totally, four cases)

2. Each time you move from an “In” vertex to an “out” vertex,

— COompute the intersection point, append the intersection point
to the current vertex list and then output the current vertex
list. So for the following polygon, you would get the following
output vertex lists.



Out

process with

[Start clipping

this vertex

=
o/

9/16/2021

v10Q

v8

v6

A

vO
uO

ul
il

ul
V2
u2
u9 >
u8 v9
V4< u3
u4
u’
v7
uée

ub

\

University of Kentucky

vl

v3

v

P1:

P2:

P3:

P4:

P5:

P6:

u0—vi—uft

u2—v3—ua3

u4—vb—ubd

ub—v7i—u’r

u8—v9—u9

u10—vi1i—ui




Polygon Clipping |

3. For each output vertex list, check if the start vertex and end
vertex of any other vertex list are between the start vertex
and end vertex of this list vertically (if the clipping edge is
vertical) or horizontally (if the clipping edge is horizontal). If
there Is such a vertex list for this output vertex list, then these
two vertex lists should be merged into a single list.

For instance, for the above polygon, vertex lists P1 and P6
should be merged into a single list. The merging process is

simple, simply append P6 to P1.

After this step, we would have only 3 vertex lists for the given
polygon. These sub-polygons are then clipped against other
bounding edges of the window.
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4. If a vertex list does not contain any other vertex list as a
subset, such as the ones shown in the next slide, the vertex
list forms closed sub-polygon by itself.
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